
	
  

Hausse	
  du	
  coût	
  du	
  travail	
  
(salaire	
  +	
  cotisations	
  sociales)	
  

Substitution	
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Machines	
  
remplacent	
  
travailleurs	
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  Salaires	
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æ	
  Profit	
  

æ	
  	
  Capacité	
  
d’autofinancement	
  
de	
  l’entreprise	
  

æ	
  
Investissements	
  
de	
  l’entreprise	
  

æ	
  
Développement	
  
de	
  l’entreprise	
  

æ	
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ä	
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ä	
  Productivité	
  
des	
  travailleurs	
  

ä	
  
Compétitivité	
  
de	
  l’entreprise	
  

ä	
  Parts	
  de	
  
marché	
  

ä	
  Emplois	
  

ä	
  Salaires	
  

ä	
  
Consommation	
  
des	
  ménages	
  

ä	
  Débouchés	
  et	
  
ventes	
  des	
  
entreprises	
  

ä	
  Production	
  

ä	
  Emplois	
  

æ	
  Coût	
  
machines	
  /	
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  du	
  travail	
  

Quel	
  effet	
  sur	
  l’emploi	
  global	
  ?	
  
Effets	
  ambivalents	
  selon	
  le	
  type	
  d’emploi	
  (qualifié	
  ou	
  pas),	
  le	
  type	
  de	
  secteur	
  (industrie/délocalisable	
  ou	
  services/peu	
  

délocalisables),et	
  le	
  type	
  de	
  marché	
  (monopole,	
  oligopole	
  ou	
  concurrence)	
  

ä	
  Production	
  


